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2AN: A=
M ATI|E EE (2L ay/2E)
el R EAS (el @2)
SH-HH . B(SH) - HBAMY - B2 ofl &t o SSa HDE2
OYkatdr™ Ly 20,000
207 A OH ] 300,000 0 300,000
01 gip gyl 300,000 0 300,000
OUYBBLHEINE +28Y 300,000
401 Al B 20 HI 1,205,000 1,780,000 A575,000
01 Al& H| 1,200,000 1,780,000 A 580,000
OAIE U A AF X HHI 1,200,000
03 A& 2 0HH| 5,000 0 5,000
O ANEE FH| 5,000
N 354,506 324,400 30, 106
101 @121l 91,959 154,250 NB2,291
04 JI2ZtH2ZXNEE S 91,959 154,250 NB2,291
HESAM2EX SH3 3| 15,487
—-J23 68,720 *168L x1H 11,545
— =X 68,720 x28F*1H 1,925
— AX =G 68,720 x 7L x1H 482
— 2HANH] 3,000 x168L x1H 504
s 103,080& 10 x1H 1,031
O=c2lotol0tSE B33 AME2 22 16,655
-Jl2= 68,7203 168 *1H 11,545
— F=AE 68,720 x28F=*1H 1,925
— AX =G 68,720 *9 «1H 619
— 2HANH| 3,000& 168 *1H 504
— 54 103,080& 10 x2H 2,062
OESAZZX xF= 22l 14,987
—-JI=23 68,720& 20 *3H 4,124
—XAE3 175,050& *20 Y *3H 10,503
— 2HAH] 3,000& x20 6 H 360
Ozxb GAISE &HEHI 22,712
—-JlE22 68,7203 x120 x2H 16,493
— F=X=E 68,720 x20F x2H 2,749
— X E 68,720 x5 x2H 688
— 2FALH] 3,000& x120L x2H 720
—5d4 103,080& x 10 x2H 2,062
Og2AdHA=Z= 2ot A 2H 2| 14,192
|23 68,720& *149! x1H 10,240
— F=EXE 68,720& x29F*x1H 1,993
— AX =G 68,700 x 7L x1H 481
— 2HALH] 3,000 x149L x1H 447
— X E 103,080& » 10 »1H 1,031
OZAA S otfs 29 22 7,926




SN BBHED
M ATI|E EE (2L ay/2E)
el R EAS (el @2)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
|23 68,720& x76 U x1H 5,223
— =X 68,720& x16F=*1H 1,100
— AX G 68,7203 x8L x1H 550
— 2tAH| 3,000& 76 *1H 228
— XSG 103,080& *8L x1H 825
201 et A | 170,607 166,490 4,117
01 At 22l ] 44,607 24,890 19,717
Ogst42H| 44 607
— 22X At otM 2| CHEid| 27
TSMEZX S 4,500 x6H 27
—HESAZZX L MG ASE S$EEE A
25 1,600,000& *12& 19,200
— LN SFEHA 2 2 500,000& ~12& 6,000
— 2ZOHUHA 29 100, 000& *2 01 A %12 2,400
— ZHZOHL A R0o1AHl AIAE KX 22l
120,000 *20f A x 128 2,880
— =R gz 14,100
02 35244l 126,000 141,600 A 15,600
O2222 2 MA 56,400
—HESA 2&X 1,100,000& «12& 13,200
2H 2oL A 150, 000 & *2H A~ x 128 3,600
—gu=29ad ZAxTY 2,000,000& x12& 24,000
— LN eSS Y SHEA 2MA
200,000& x12& 2,400
— = AMEAIERA 1,100,000& ~12& 13,200
OA& &l S XYl 69,600
— A 22X L A ASE 15,600
— gy 942 d2AxY 54,000
206 M = Hl 340 2,460 N2,120
01 X 2 Hl 340 2,460 N2,120
Ooz&X *FUH 1,700& *200L 340
401 Al HI L 2T 90,000 0 90,000
01 Al& H| 90,000 0 90,000
OJ&X ZHAE 2el 90,000
405 KHoaHFE S HI 1,600 1,200 400
01 JHAHE 2 Z F =St 1,600 1,200 400
O X404 =0 700,000& = 1CH 700
OATESE | 900,000 =1 CH 900
22Ot MAHFF 45,000 30,000 15,000
401 A EHI L 2O 45,000 30,000 15,000
01 Al& H| 45,000 30,000 15,000




AN 2Z2HSD
M 2ZI|E SHE (2oL /)
el R EAS (el @2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
O=tZotE X & HE=> 45,000,000& 45,000
S ZBHEA SHAY 144,908 138,708 6,200
J| 14,162
< 20,562
Al 110,184
201 L2l 10,308 11,308 21,000
J| 838
< 461
Al 9,009
01 At 22l I 6,600 6,600 0
Oget=&H| 3,600
— 2oL H 2
100, 000& 34 2+ 12& 3,600
o=l 3,000
— =z A 282 300,000& x10H 3,000
J| 461
< 461
Al 2,078
02 =224l 3,708 4,708 A 1,000
O=23t2Zoid At & 70,0003 30 A +12& 2,520
| 377
Al 2,143
O2t2Z AT S4ltl
33,0003 *3M 2123 1,188
301 LBEAZ 133,100 125,900 7,200
J| 13,324
= 20,101
Al 99,675
09 HALAHIXI &3 6,800 4,400 2,400
O=st 22 & AL F&2 5t 2,400
< 1,200
Al 1,200
OFst2Zof& AL &K AS 2,400
< 1,200
Al 1,200
O=st22oi& A ns &4
50,000& x10H x43] 2,000
12 JIEtE4 3 126,300 121,500 4,800
O=st22of&A 28 243
50,0003 x6H 345 103,500
J| 13,324
< 17,701
Al 72,475
OBl 2243 22,800
405 XtatE SHI 1,500 1,500 0
01 HatH ESFH S 1,500 1,500 0
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22 S
2P HE (AU /DY)
22 -5t (Sl & &)
= _ — d =
SN FH-SA(EN) - MBAY - BES e HlnE2
202 Od4dl 4,000 3,000 1,000
01 = LH 4 Hl 4,000 3,000 1,000
OzZads g8 o4l 4,000
301 LEPEXF 1,200 2,000 A 800
12 JIEE4 3 1,200 2,000 A 800
OZHhd IsSAY 3L &35
10,0003 x10H x12& 1,200
307 glz2+0ol & 29,000 39,000 A 10,000
02 QB HUANFEE 9,000 9,000 0
Odsedad 29 9,000
04 DIZHHALALSE E X 20,000 30,000 A 10,000
OgZdaz MIAX 22H 20,000
405 RHoHE S HI 28,000 24,060 3,940
01 et EZFH S 28,000 24,060 3,940
ORUA=II 7,000,000 *4CH 28,000
ALST (2L 22/ =) ,459,899 8,334,487 5,125,412
s 780,000
J| ,329,564
< 294,352
Al ,055,983
HEAME 29 ,658,283 4,362,969 5,295,314
s 780,000
J| , 105,000
< 200,000
Al ,573,283
HEAE 29 ,869,573 2,326,535 1,543,038
309 =2 , 199,273 2,137,535 1,061,738
01 SAt- SHINE=ES , 199,273 2,137,535 1,061,738
OAed2elsH , 199,273
404 SMNSEHIHEEES 670,300 189,000 481,300
01 SAt-sH=dES 670,300 189,000 481,300
OAl&2el3 670,300
HsAE 2el ,038,710 776,434 262,276
101 14 Hl 191,568 332,772 A 141,204
04 JIZHHZ22XEES 191,568 332,772 A 141,204
Osgs MY 2l 191,568
—Jl=s 66,800 x80L 30 160,320
— FX=g 66,8002 x125=+30Y 24,048
— ZHAH| 3,000 x80L 30 7,200
201 et 59,402 105,922 246,520




2AN: A=
M AQ AAST (2L AZ/HS)
ool HSAL 29 (S &2)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
01 At 22l bl 12,570 22,290 N9,720
OAl& &H| KX Hl| 3,720
— S3H s 2o 150, 000& 6 & 900
~ 2SS @A BRINY +42
270,000 »6& 1,620
— ABAIA gigtae|iE =22 (20HA)
200,000 »6& 1,200
Oex= 6,000
—ASANL (MR =5 488) 6,000
O A2F 2 2,850
—St&EX S 200,000& x6& 1,200
—3HALAEE 100, 000& ~6& 600
— 3228 MYJI=SE 4,500& = 1000H 450
— M 100, 000& ~6& 600
02 B2 46,832 83,632 36,800
OZZR3 2 MA 27,332
~UUAER SAYs SHE
113,000 x20 A x12€) 2,712
~UYAESI SUYS 082
55,000 x201 A x12€ 1,320
— S Q MBS
2,300,000& 62 13,800
—SHRIZ 2 SRS 80,000& ~6& 480
— 23H 3 2 Aot 22
170,000& ~6& 1,020
— A= 2,000
—S8HE HSAMNE 2222 5,000
—NSIAM ¥ 282 1,000
(@PNE=FaR=1a:] 2,000
— X S ¥ KA 2,000
OA& &l S XYl 17,500
— 2 A2 M|, LAY, g5 S RAESE 15,000
—Ha=X HA(2MA) 500,000& *13] 500
— YAAEX SAEYS EH HH|
1,000,000& *x204 2~ 2,000
202 04| 6,240 6,240 0
01 2L Y| 6,240 6,240 0]
OMEAE2 HRFX 6,240
206 M = Hl 40,000 40,000 0
01 & bl 40,000 40,000 0
OsdHs MEesd |A22 40,000
401 Al HI L £ 0HHI 741,500 291,500 450,000
01 A& HI 740,000 290,000 450,000




= - - SHE|
SN FHE - B(SA) - MEAY - BHES e HlmE2
OHMSAE SX E= 250,000
—HsAE E £ Fl 250,000
OJI=AH0EE & EFF FHl 200,000
Ootg =& Hl 190,000
a2 FH 100,000
03 AIE 2 0H bl 1,500 1,500 0
OMSE A& 22| 1,500
HEIEALE VA (=22 FH =4) 1,600,000 0 ,600,000
s 480,000
Al 1,120,000
401 AIEBIZ 201 8] 1,600,000 0 ,600,000
s 480,000
Al 1,120,000
01 A& Hl 1,600,000 0 ,600,000
Oo&adgita=sd x4 800,000
= 240,000
Al 560,000
Ootgtza=2& =4 800,000
s 240,000
Al 560,000
YARNALY SE23MEHAE ,800,000 0 ,800,000
s 300,000
| 1,000,000
< 200,000
Al 1,300,000
401 A& BIZ 201 8I ,800,000 0 ,800,000
s 300,000
| 1,000,000
< 200,000
Al 1,300,000
01 A& HI ,800,000 0 ,800,000
OZrNdad =g Zstdlgy 2 E ,800,000
s 300,000
| 1,000,000
= 200,000
Al 1,300,000
LYAHLIAE™ b 350,000 0 350,000
| 105,000
Al 245,000
401 Al&HI & 28I 350,000 0 350,000
| 105,000
Al 245,000
01 A& HI 350,000 0 350,000
OLAAHULAE &I 350,000
| 105,000
Al 245,000




2N
X ZH -
L= B
el

(o
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
HEANE 25 100,000 180,000 A 80,000
HMEAE =4 100,000 180,000 280,000
401 AIEHIZ 28I 100,000 180,000 280,000
INE=1:1 100,000 180,000 280,000
Os8&s HMsSAE &X 100,000
HEHE =4 1,661,208 1,591,850 69,358
| 224,564
= 55,408
Al 1,381,236
HHESIE § 29 1,203,000 1,173,000 30,000
S 37,000
Al 1,166,000
201 LB-2dH| 3,000 3,000 0
02 3322l 3,000 3,000 0
O3323 & HA 1,000
—AsA ¥ BEEE 1,000
OXt& & Bt 2,000
— g S50 ¥ KA 2,000
301 LEAF 1,200,000 1,170,000 30,000
< 37,000
Al 1,163,000
Vo=t - 2S2S243 1,200,000 1,170,000 30,000
OHHEQIEE d 1A & 23] 1,200,000
< 37,000
Al 1,163,000
MEHS WA 30,160 30, 160 0
= 4,838
Al 25,322
307 glz2tol & 30,160 30, 160 0
S 4,838
Al 25,322
02 It M AHEE 30,160 30, 160 0
Odaisns 29 30,160
= 4,838
Al 25,322
HEAMMEXNSXEZX BIXI(2SXA) 109, 152 80,424 28,728
| 54,576
Al 54,576
307 21201 A 109, 152 80,424 28,728
| 54,576
Al 54,576
02 YAFAAFEX 109, 152 80,424 28,728
OZMEY MEXNSXN A 1A 109, 152




AN 2AZHSH

HE: A HLS (2L 2Z/HK)
Sl MBS S4 (S &2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Jl 54,576
Al 54,576
dEdsZ20d X2 21,480 28,480 A7,000
< 3,994
Al 17,486
307 glz2tol & 21,480 28,480 A7,000
< 3,994
Al 17,486
02 (It HAMHEE 21,480 28,480 AT7,000
O0eol Msna 4,960
< 950
Al 4,010
O&=+Hs W& 5,320
< 1,037
Al 4,283
OF=EL= R F=BmE] 3,000
< 280
Al 2,720
OWdHE= 4,680
< 1,123
Al 3,557
OSgle 344 Msna 3,520
< 604
Al 2,916
UBTMET S X (2SX) 191,016 187,656 3,360
J| 95,508
Al 95,508
307 glz2tol & 191,016 187,656 3,360
J| 95,508
Al 95,508
02 QIZtE A AHEE 191,016 187,656 3,360
OMENSAET A el 191,016
J| 95,508
Al 95,508
AEE A0S 85,920 81,570 4,350
J| 60,144
< 7,733
Al 18,043
307 21201 A 85,920 81,570 4,350
J| 60,144
< 7,733
Al 18,043
02 QB AAHE X 85,920 81,570 4,350
OAZ= 2H0EA 85,920
J| 60,144
< 7,733
Al 18,043
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2N
X ZH -
L= B

el

S HB O (SA) - NPAY - BAS 0fl Ak o8 ﬁlgi HD=2
307 212t01 & 37,000 37,000 0
02 DIZtZAAMEE X 30,000 30,000 0
OL=83l 30,000
04 QI2SHALAIE E &= 7,000 7,000 0
ONMEAa Al&tA 7,000
aleF ofelg OletE thal 292,000 292,000 0
< 10,000
Al 282,000
201 LBEt2H Y| 67,000 67,000 0
01 At 22l Yl 67,000 67,000 0
Odet2H| 59,000
—Oi2tE U3 EHY 2 taol 3l 8,000
—0l2tE g Jt2271 Z20lg &l 4,000
—0l2tE U3 &ZE 6,000
—0l2HE U3 g8 35,000
—0lctE 3 OlXE & Z210E &bl 6,000
Ogxts 8,000
—0lctE U3 ols3g &4 8,000
301 deEtE2 X = 5,000 5,000 0
09 #HALAHI X &= 5,000 5,000 0
OlletE S2X LXK AsH(2l2tel) 5,000
307 QI2t0| ™ 220,000 220,000 0
= 10,000
Al 210,000
04 QIZHSHAFAIRE 2 X 220,000 220,000 0
Oogeotel e OretE thal 220,000
— H173 Lotel e OfetE el 190,000
T 10,000
Al 180,000
— M183 L 0orelg OtetE Hal =bl 30,000
3.18J|18 98EF=U3 20,000 20,000 0
307 212t01 & 20,000 20,000 0
04 QIZHSHAFAIE 2 X 20,000 20,000 0
O3.18J|18 4&8&83x g 20,000
TOM=E 3 196,000 196,000 0
307 212t01 & 196,000 196,000 0
02 DI2ZtF AAHEE X 196,000 196,000 0
OZoxM=E 3l &It 196,000
Al QA E T =3 35,000 35,000 0
307 QI2t0| ™ 35,000 35,000 0




AN 2AZHSH

PSP /\I‘:j ALEST (2L 2 /HF)
CHelr M &AL 2tel (cho &)
SA-HB .Y (BH) - MBPAY - B2 o A o SSa H RS2
04 DIZFSHALAIRI 2 = 35,000 35,000 0
OAN2IME MsU3E 35,000
AQI2A2E 20 Thal 10,000 10,000 0
307 QI2t01 & 10,000 10,000 0
04 QI2FSHALAIE E = 10,000 10,000 0
OASIAZ 2 thal 10,000
TOol MEXHE U3 110,000 106,000 4,000
307 QI2t0| ™ 110,000 106,000 4,000
02 DI2HE MAIEE X 110,000 106,000 4,000
OO0 MExsHa &It 110,000
AEEE A= 03 7,000 7,000 0
307 212t01 & 7,000 7,000 0
04 QIZHSHAFAIRHE 2 X 7,000 7,000 0
OAIEH AI2IZZ 3 7,000
d=X=E HaE 3,000 3,000 0
307 212t01 & 3,000 3,000 0
04 QIZHSHAFAIE 2 X 3,000 3,000 0
OX=HM=E tHal 3,000
A BHECE O3 8,000 8,000 0
307 QI2t0| ™ 8,000 8,000 0
04 QI2SHALAIE E = 8,000 8,000 0
OAIED BHESEH L3l 8,000
AMEH 3Y HOE=Z U3 20,000 7,000 13,000
307 QI2t0| ™ 20,000 7,000 13,000
04 DIZHSHAFAIRE 2 X 20,000 7,000 13,000
OAMEH BY HOIEZ L3I 20,000
AEDIl HILIA T3 15,000 15,000 0
307 212t01 & 15,000 15,000 0
04 QIZHSHAFAIHE 2 X 15,000 15,000 0
OAMZEE 8= HUA U3 15,000
AIEE 8= 3322 U3 15,000 15,000 0
307 212t01 & 15,000 15,000 0
04 QIZFSHALAIE B2 X 15,000 15,000 0
OAEH 8=2W3a32Z e 15,000
Had Za U3 9,000 9,000 0
307 QI2t0| ™ 9,000 9,000 0
04 QI2SHALAIE E = 9,000 9,000 0




AN 2AZHSH

HE: A HLS (2L 2Z/HK)
Selr MSEA 2el (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET

OFAE Z& Hal(x,5,1) 9,000
dsd =8 EF0H3 22,000 22,000 0
307 glz2+ol & 22,000 22,000 0
04 QIZFHALAIH B = 22,000 22,000 0

OgdsE=x=d =+ s 22,000
gotel gl 2eeld SFUS 7,000 7,000 0
307 21201 A 7,000 7,000 0
04 QIZFHALAIR B = 7,000 7,000 0

Ogotel&bl 2eeld 57 Ul 7,000
LAA MEMSE NHEHED| HE A 20,000 20,000 0
307 2201 A 20,000 20,000 0
04 DIZHHALALSE E X 20,000 20,000 0

OdEHE NHEAHED X 20,000
AZHH AL C1OF2TH 3 7,000 7,000 0
307 glz2tol & 7,000 7,000 0
04 QIZFHALAIH E = 7,000 7,000 0

OAIE B Atgl el OFRCHE 7,000
Lot ZHH ZAEUE 8,000 6,000 2,000
307 21201 A 8,000 6,000 2,000
04 QIZFHALAIH B = 8,000 6,000 2,000

OoZotel &t =&nal 8,000
HE=s 245 33,000 33,000 0

< 4,000

Al 29,000
307 21201 A 33,000 33,000 0

= 4,000

Al 29,000
04 DIZFHALALSE E X 33,000 33,000 0

Odexs gdsa 33,000

< 4,000

Al 29,000
S = E0 MU It 150,000 150,000 0
307 glz2tol & 150,000 150,000 0
02 It M AHE X 150,000 150,000 0

O d= 0l M=U3s &It 150,000
CoHsEHE 8 4 50,000 50,000 0
307 glz2+ol & 50,000 50,000 0
02 It M AMHEE 50,000 50,000 0

OH=EUz =+ 54 50,000




2N
X ZH -
L= B

el

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
LA BHEE T2l 7,000 7,000 0
307 gl2tol & 7,000 7,000 0
04 DI2ZHHALALSE E X 7,000 7,000 0
OZLAIZHY BHAZ T3l 7,000
EAH 2SI M SE0LE =R 10,000 0 10,000
307 glz2tol & 10,000 0 10,000
04 QIZFHALALH 2 = 10,000 0 10,000
OFAYUZSN=E0E = A 10,000
Z2gad =703 15,000 0 15,000
307 21201 A 15,000 0 15,000
04 QIZFHALAIH B = 15,000 0 15,000
O3dgay =703 15,000
=29 HSHAM 709,888 806, 148 A 96,260
= 24,944
Al 684,944
a2 22U 20,000 20,000 0
307 21201 A 20,000 20,000 0
04 QIZFHALAIR B = 20,000 20,000 0
O&=2=20s 20,000
d=2 HHERIE W 270,000 380,000 A 110,000
< 10,000
Al 260,000
307 glz2tol & 270,000 380,000 A 110,000
< 10,000
Al 260,000
04 DIZHHALALSE E X 270,000 380,000 A 110,000
Od= &2 ZTE HEUE U3 180,000
< 10,000
Al 170,000
OZAYEXIAD BHELE 3 30,000
OZAEEE3EHI HHECIEHUS 30,000
OOtel &t &= BHEQE 3l 30,000
Foe M= sotel X 9,888 9,148 740
=3 4,944
Al 4,944
307 21201 A 9,888 9,148 740
L3 4,944
Al 4,944
04 QIZFSHALAIR B &= 9,888 9,148 740
OZO0H el xl = S ot 9,888
< 4,944
Al 4,944




AN 2AZHSH

HE: A HLS (2L 2Z/HK)
Sel: MRS HSHA EEREED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET

dg ZeM=Us XA 8,000 7,000 1,000
307 gl2tol & 8,000 7,000 1,000
02 It M AHE L 8,000 7,000 1,000

OZg Zofel M=sdsl 8,000
dXNEdE ddUsl 15,000 10,000 5,000
307 glz2tol & 15,000 10,000 5,000
04 QIZFHALALH 2 = 15,000 10,000 5,000

OdX=zgd N & LU 15,000
LAANEI 82 2E U3 10,000 10,000 0
307 21201 A 10,000 10,000 0
04 QIZFHALAIH B = 10,000 10,000 0

OZLANFI =2 2 &7H3 10,000
LYAUA TEIot FLNH QE HHEQUES=A 3 290,000 290,000 0

< 10,000

Al 280,000
307 21201 A 290,000 290,000 0

= 10,000

Al 280,000
04 DIZHHALALSE E X 290,000 290,000 0

O3 |XlH ¥ 294l 290,000

< 10,000

Al 280,000
&= 2|3 10,000 5,000 5,000
307 glz2tol & 10,000 5,000 5,000
04 DIZHHALALSE E X 10,000 5,000 5,000

O&=2Z2JIItsl 10,000
= St ATXZEUWSE 7,000 5,000 2,000
307 glz2+ol & 7,000 5,000 2,000
04 QIZFHALAIH B = 7,000 5,000 2,000

OM132 d=2stNAZ=ZEUHE 7,000
=253 40,000 40,000 0
307 21201 A 40,000 40,000 0
04 QIZFHALAIH B = 40,000 40,000 0

O&=g0 2&Us 40,000
Pl ke 30,000 30,000 0
307 gl2tol & 30,000 30,000 0
04 DIZHHALALSE E X 30,000 30,000 0

OYAAEI SINEZUS 30,000
HE2AZH (ZZMS2)(IIE/IIE) 194,404 135,202 59,202




22 S
HH2LZH (22 ML) (IIEHIIE
el 2l

A - ER(EN) - AR - B of & o4 SSa HIDZ2
el 2| 129,432 51,692 77,740
g =gl 129,432 51,692 77,740
101 124 4] 129,432 51,692 77,740
03 RIAHAZZ2XNE = 129,432 51,692 77,740
O2M=s2 22& 24,161
—Jl2s 2,427,450 x 18«63 14,565
—H¥IZzsg 16,1703 x52A1 2t x 12 6 E 5,046
—ARdd=E 150,000 » 12 63 900
—gsEd=sE 43,3902« 18«6 261
—HEH 20,0003 x1H«6& 120
— &5t 1,456,470 x 1S «1& 1,457
— X4 86,2403 x1H 212 1,812
OESA2ZX 33| 32,420
—Jl=2= 2,103,250 x12& *1 25,239
—ARdd=E 150,000& *12& *1 1,800
—EEFJtl 1,261,950& #23] *1 2,524
- =€=g 111,270 152 *1 1,670
— X 74,1803 x 162 * 1 1,187
OMsHAE X 34,088
—Jl=2 2,103,250 x 12«18 25,239
—ARFA=+E 150, 000& 128 1 1,800
— &5t 1,261,950& »22] x1H 2,524
— A2l 9,270 x1.5+20AI 2t 12 x1H 3,338
—dx=g 74,1803 x 162+ 1L 1,187
OsgzaZUs 232t 38,763
—Jl2s 2,492,800 x 12«18 29,914
—dszE2dsE 43,3903 x 128 1 521
— EEF0t 1,495,680& »23]| x1H 2,992
—d2&A+E 150,000& «12& 1Y 1,800
—5¢2f=E 132,600 »10 1 1,326
— X 88,4003 252 *1 2,210
=38l 64,972 83,510 18,538
Jl=23H 64,972 83,510 A 18,538
201 LEr2 Y| 17,952 34,710 A 16,758
01 At2 22l H 17,952 34,710 216,758
ORN=2g Jl2&Hl 17,952
202 O 4 42,820 45,200 A2,380
01 S LHOYI 42,820 45,200 N 2,380
O=UWutl 42,820
203 Q2= Y| 4,200 3,600 600
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145,000
145,000
145,000

145,000
145,000

H3r
Wikd
RIS

3,600

275,000
275,000
275,000

275,000

Off &t 24

4,200
4,200

420,000
420,000
420,000

420,000

I = 3H) (J1EH/JIEE)
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